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BOARD OF SECONDARY EDUCATION, RAJASTHAN AJMER

MODEL PAPER -2022
CLASS -12
ENGLISH (COMPULSORY)

Time :- 2 Hours 45 Min. Marks :- 80

SECTION-A

Q-1. Choose the correct alternative -
(i) Who is the teacher in the story — ‘The Last Lesson’ ?
(a) Franz (b) Hauser
(c) M. Hamel (d) Wachter [ 1]

(i) Mukeshwantstobea...................

(a) Doctor (b) Teacher

(c) Businessman (d) Motor Mechanic [ ]
(ii1) According to Roosevelt, “ All we have to ........... is fear itself.”

(a) fear (b) face

(c) fight (d) fun [ ]
(iv) How much money did the peddler steal from the old man’s cottage ?

(@) ten kronors (b) thirty kronors

(c) fifty kronors (d) eighty kronors [ ]

(v) The whole world is nothing buta big ......................
(a) forest (b) rattrap
(c) tourist place (d) headache [ ]

(vi) Which medicine was available to improve the health conditions of the people of the
Champaran villages ?
(a) castor oil (b) quinine

(c) sulphur ointment (d) all of these [ ]
(vii) The poetess compares her mother’s face to .............
(a) late winter’s moon (b) a corpse

(c) both (a) and (b) (d) none of these [ ]

(viii) ‘The paper — seeming boy with rat’s eyes’ means ----- The boyis .....ccovvneenn.n.

(a) unpleasant looking (b) thin and weak



(c) cunning (d) sly and secretive
(ix) Who composed the poem — ‘Keeping Quiet’ ?
(a) Pablo Neruda (b) Robert Frost
(c) John Keats (d) Adrienne Rich
(x) The endless fountain of immortal drink pouring from....................
(a) the heart core (b) the heaven’s brink
(c) the mountain (d) the sky
(xi) What kind of lady was Aunt Jennifer ?
(@) bold (b) beautiful
(c) timid (d) can’t say
(xii) Alsace and Lorraine districts were occupied by ..............
(a) France (b) Austria
(c) Poland (d) Prussia

Q-2. Combine the sentences using the words given in brackets -

(1) The girl is coming here. She is my sister . (who)

(€} I you don’t work hard, you won’t pass. (as/if/ so)
(i) Hewas ............. tired ......... he couldn’t walk. (so-that / too-to)
(iii) The Headmaster assured me to ........... the issue of fees.

(turn over / turn on)

(iv) What time does your father ................. in the morning ?
(turn up / get up)
(v) Whatisthetime .................... your watch ? (by / in)

(vi) Anilis fond ............. sweets and toffees. (of /in)



SECTION-B

Q-4. Read the passage given below and answer the questions that follow :-

Delhi has grown into the city that shuns children. It is now an urban sprawl, it’s
development model skewed in favour of motorised traffic and commercial capitalization.
This has snatched play fields from kids with vehicles both stationary and on the move
occupying every inch of space available, the roads and even lanes and by lanes are out of
bounds for the little ones unlike in American and European cities, there are few public spaces
where one can hang out. No wonder, our children spend a lot of time indoors, glued to the
T.V., P.C. or mobile screen. It’s time, urban planning experts say, ‘to reconsider Delhi’s
growth with the welfare of it’s children in mind.’

Supreme Court Judge Kurian Joseph expressed his anguish at the shrinking playing
space for children in Delhi. The condition of the parks in the city, he said in the letter, was a
“serious violation of human rights of children” as it was “their right in their tender times to
have a decent environment to play and frolic around.”

Kuldeep Singh, an architect and urban planner, who worked with DDA during
1956-57 to bring out Delhi’s first master plan, explained how initially children’s needs were
the town planner’s priority. “Space standards were set very rationally and in every

%9

neighbourhood, a huge open space was reserved for children which we called ‘tot-lots’.

“This was the place where we thought children would get a space to play and mingle
with each other and we kept it away from roads,” recalled Singh. However due to
administrative reasons, the idea of ‘tot-lots’ had to be dropped and regrettably was never
entertained again.

“Over the years, circumstances have changed and people are reluctant to let their
children go out without some kind of security, as a result of which the children are now
suffering” says Mr. Singh. Before it’s too late, Mr. Singh hopes the few open spaces for kids
are restored and protected from vehicles looking for parking lots. Another urban planning
expert says the first rectification Delhi’s development model needs to carry out is to ensure
mobility of children.

(i) What type of city Delhi grown into ? 2
(if) What is expressed by Kurian Joseph about Delhi ? 2
(iii) What does Kuldeep Singh say as an urban planner ? 2
(iv) What are tot-lots ? 2
(v) Find the similar word for ‘correct’ and antonym for ‘separate’ from the passage. 2

Q-5. Read the passage given below and answer the questions that follow :-

While there is no denying that the world loves a winner, it is important that you
recognise the signs of stress in your behaviour and be healthy enough to enjoy your success.



Stress can strike anytime, in a fashion that may leave you unaware of it’s presence in your
life. While a certain amount of pressure is necessary for performance, it is important to be
able to recognise your individual threshold for instance there are some individuals who
accept competition in a healthy fashion. There are others who collapse into weeping wrecks
before an exam or on comparing mark sheets and finding that their friend has scored better.

It is a body reaction to any demands or changes in its internal and external
environment. Whenever there is a change in the external environment such as temperature
pollutants, humidity and working conditions, it leads to stress. In these days of competition
when a person makes up his mind to surpass what has been achieved by others leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning depending on the stage of life you are in. The loss of a
toy or a reprimand from the parents might create a stress shock in a child. An adolescent who
fails an examination may feel as if everything has been lost and life has no further meaning.
In an adult, the loss of his or her companion, job or professional failure may appear as if there
is nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, hyperacidity and
ultimately in self destructive behaviour such as eating and drinking too much, smoking
excessively, relying on tranquilisers, trembling, shaking, nervous blinking, dryness of throat
and mouth and difficulty in swallowing.

(1) What is stress ? 1

(it) What important thing should be recognised ? 1

(iii) What signs appear in a stressed person ? 1

(iv) What factors lead to stress ? 1

(v) What is psycho-social stress ? 1
SECTION-C

Write the answers of the following in about 20 words :-

Q-6. How many dollars did Charley’s friend Sam withdraw from his account? 1
(The Third Level)

Q-7. How old was the prince when he spoke the words clearly before the 1
astrologers ? (The Tiger King)

Q-8. Why was Sadao sent to America ? (The Enemy) 1

Q-9. What type of change did Mr. Lamb bring in Derry’s life ? 1

(The Third Level)
Q-10. What made Bama sad and angry ? (Memories of Childhood) 1



Write the answers of the following in about 30-40 words :-

Q-11. What did Douglas plan to save himself when he went down for the
first time in water ? (Deep Water)

Q-12. Why did Gandhi agree to a settlement of 25% refund to the farmers ?
(Indigo)

Q-13. How is the ‘map’ different from the world of the slum ?
(An Elementary School Classroom in a Slum)

Q-14. What message does the poem ‘Keeping Quiet’ give us ?
(Keeping Quiet)

Q-15. What are the different things of beauty mentioned in the poem
‘A Thing of Beauty’ ? (A Thing of Beauty)

Q-16. What did the king resolve and why ?
(The Tiger King)

Q-17. How can you say that Sadao was a true doctor ?
(The Enemy)

Q-18. Why did Derry like secluded places ?
(On The Face Of It)
Write the answers of the following questions in about 60-80 words :-

Q-19. Discuss the living conditions of Seemapuri . (Lost Spring)
OR
How did Gandbhiji help the peasants in Champaran ? (Indigo)
Q-20. How did the author become a perfect swimmer ? (Deep Water)
OR
Justify the title ‘Last Lesson’. (Last Lesson)
Q-21. Write the character sketch of Derry. (On The Face Of It)
OR

Write about the theme of the lesson ‘Memories Of Childhood’.
(Memories of Childhood)

Q-22. How can you say that the third level was a medium of escape
for Charley ? (The Third Level)
OR

Why could Sadao not kill his enemy ? (The Enemy)



SECTION-D

Q-23. You are looking for a one room set on rent near your school. Write an advertisement

Q-24.

giving essential details. Don’t forget to mention the amount of rent you are ready
to pay . 4
OR

You are Sumitra / Sumit studying in Govt. Sr. Sec. School, Jaipur. Your school is
organising a Debate Competition. Draft a notice as a Cultural Secretary of your school
student union.
You are Arun / Anita studying in G.S.S.S. Jodhpur. Your school has celebrated
Annual Function recently. Write a report to be published in the school magazine
in about 100 words . 4
OR

Translate the passage into Hindi :

The ancient Greeks considered games so important that they measured the
time by the interval between them. It was their firm belief that a strong and healthy
body is absolutely essential to have a sound mind.

At any cost they didn’t allow any interference in the games. Suppose if a war
was going on, it would be stopped. Unluckily, in 393 AD the games were banned by
Roman emperor Theodosius. People forgot Olympics for nearly 1500 years. Then
came a Frenchman who restarted the games. He believed that the glory of ancient

Greece was due to its athletic festivals.

Q-25. Write a job application for the post of an English Lecturer, to the Principal, Mahatma

Gandhi Govt. Sr. Sec. School, Ramnagar. You are Geet / Geeta, living in Jaipur.

4
OR

Imagine you are Arun / Aruna, living at Shastri Nagar, Alwar. Write a letter to the
customer service manager of Shriram Electronics Pvt. Ltd. Complaining about

a defect in the refrigerator purchased from the store.
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4. | SEI=TNT gy 3 16.07% 7.90% 51 Min
5 | f9aTHR 2 14.29% 5.26% 48 Min
AT 38 100% 100% 165 Min
f[dhed AT : 3MTIR®
3. fawg oy &1 FPIR —
.3 [ERRIER! JHAR | Hfaed
1 Chapter 1 — Exception Handling in Python 6 10.7%
2 2 — File Handling Python 9 16.0%
3 3 — Stack 10 17.9%
4 4 — Queue 7 12.5%
5 10 — Computer Network 55 9.8%
6 11 — Data Communication 25 4.5%
7 7 — Understanding Data 35 6.3%
8 8 — Database Concept 7.5 13.4%
9 9 — Structured Query, Language (SQL) 5 8.9%
Total :- 56 100%




U9 =g i

wHer — Xl v — FHReR faem qUlfh — 56

. YT PR /ST PR Elxl RECI] SHYART / Sifeafe DY / T AT
.
Chapter 1 — Exception Handling 1(1) | 1(1) - - - - - | 10) - - _ - _ 3(2) - - _ _ _ - 6()
in Python
2 | 2 = File Handling Python 1) | 10) | - - - — 1) = | 3@ - | -] - - - M) | — | = - |- - 9(6)
3 | 3-Stack HOR - - - - - |20 - - | = | - - | 30 i Rl - | = 40 10(6)
4 | 4—Queue 10m | - 1(1) - - - — |20 3(2) - - | - — - - - | - - =] - 7(6)
5 | 10— Computer Network 1(1) - - - - _ _ _ 1%(1) - _ - _ - 3(1) - | _ _ _ — 5%(3)
6 | 11— Data Communication 1(1) — — — — _ _ _ 1%(1) - _ - _ - - - | _ _ _ - 2%4(2)
7 | 7-Understanding Data 1(1) | 1(1) - - - _ _ _ 1%(1) _ _ _ - - - | - - — | 4(1) 3%5(3)
8 | 8 —Database Concept 10| - - - - | 101) i e IS 74 C) N e R - - - i N e 7 V()
9 | 9—Structured Query, 1(1) | 1(1) - - - - - - - - - - - () | — | - - - - 5(3)
Language (SQL)
AR — 9(0) | 4(4) 1(1) - - 1(1) | 1(1) | 5(6) | 12(8) - - - - 6(4) 9B) | — | — — -1 8@ 56(38)
famedl 31 I — UH. 19, 20 H Y@ AARS faved 8 Alc :— BIod H B Bl GE&T Dl D qAT Hax UH o AP 8 |

e :— 9o 93 # T UeH 20 §, S YHRWR § FA 38 T |
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et & forg g fAder —
GENERAL INSTRUCTION TO THE EXAMINEES:
1. Tl FdueMm 199 U U UR Ak ifardd: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 geF o erfard R |

All the questions are compulasory.
3. U U BT IR &l g IR JRAdT 7 &1 ford |
Write the answer to each question in the given answer book only.
4. F Ul H dIR% @ue 8 I I & IR U A1 & ford |
For questions having more than one part the answers to those parts are to be

written together in continuity.
5. U3 UF & Rl WR Sl wumRel H R geR @ Fe/ R/ R g9 R R
AT & YT Bl FEl 7 |

If there is any error/difference/contradiction in Hindi & English version of the
guestion paper, the question of the Hindi version should be treated valid.

SECTION-A

Q-1 9gfddcdl U —

Multiple Questions —

(i) B8 § RET @ g foreq & fog 79 A 9 91 v SuanT fhar ofmar © 2 1
(31) write() (@) writeline()

() writelines() (<) write(all) [ 1]



Which of the following function is used to write list of strings in a file ?
(@) write() (b) writeline()
(c) writelines() (d) write(all)

(i) CSV &1 fawaRa = forfau |

(381) Comma Separated Files (8) Common Separate Files
() Counting Separate Files (2) Connecting Separate Files
Write the full form of CSV File .

(a) Comma Separated Files (b) Common Separate Files

(c) Counting Separate Files (d) Connecting Separate Files

(iii) Stack XRg® TeT TG B |
(31 I (d) 3T
() T3 (3) 3T & BIg e

Stack is a linear data structure .

(@) True (b) False
(c) Zero (d) None of these
(iv) T% Queue H iNSertion ... P BR W BT & |
(&) smr @) T
(%) dre () FE A
In a Queue in Insertion take place at ...................... end.
(a) Front (b) Top
(c) Rear (d) Any

(v) 7T & | T R fSarsa B ?
(31) HDD (8) SSD

(d) DVD (2) All of these



Which of the following is storage device ?

(a) HDD

(c) DVD

(b) SSD

(d) All of these

(vi) T ReeM Sered § =1 &1 Wig giam 2 |

(31) Tuples

(¥) Relations

(¥) Attributes

(%) Keys

A relational database consists of a collecting of .

(@) Tuples
(c) Relations

(vii) DML T 1 a1ef g ?
(31) Different Mode Level
(¥) Data Mode Lane
What does DML Stand for ?
(a) Different Mode Level
(c) Data Mode Lane

(viii) WLL T & 312} 8 ?
(31) Wireless in Local Loop
() Wireless in Long Loop
What does WLL Stand for ?
(a) Wireless in Local Loop

(c) Wireless in Long Loop

(ix) 98 Device SII ST Udhe BT Uk "Acdd H TN cdd H Hikde ! g,

HEA T |
(31) Bridge
(9) Hub

(b) Attributes

(d) Keys

(9) Data Model Language

(<) Data Manipulation Language

(b) Data Model Language

(d) Data Manipulation Language

() Wireless in Large Loop

(%) None of Above

(b) Wireless in Large Loop

(d) None of Above

() Routers

(]) Gateway



Device that forwarded data packet from one network to another network is called .

(a) Bridge (b) Routers
(c) Hub (d) Gateway [ ]
Q-2 Raa o & gfif —
Fill in the blanks —
() veeeeeeieeeeee, qdh I~ BT & 9 RV Afgyel uR¥IET 81 el 7 |
..................... is raised when the requested module definition is not found.
(i) STT BISel W ST & dgcd bl M &N Bl 9@ & T o fafer et

SYANT fHar ST 7 |
.................. method is used to read a specified number of bytes (n) of a data from
a data file .

(iii) TP BT TATT QUEUE D oo B g & forg favar Sirar 2

Frontisused to indicate ................c.ceuvennnn.. of queue .

(iv) ST BT QBT oo FHEATAT T |

The duplication of data is known asdata .........................

Q-3 SffAeTegRIAS U —
Short Answer Type Questions -
(i) raise HUF BT T ITANT T ?
What is the use of raise statement ?
(i) Seek() #ors & oy IUANT IR Ricad ford |
Write the use and syntax for Seek() method.

(i) STel R (FRa) @1 8 ?

What are data structures ?

(iv) f=ferRad ®re &1 Output ford —
result =0
numberList = [10, 20, 30]
numberList.append(40)
result = result + numberList.pop()
Find the output of following code :
result =0
numberList = [10, 20, 30]
numberList.append (40)

result = result + numberList.pop()



(v) FIFO AR &7 aufq & &xar & ?
How does FIFO describe queue ?
(vi) deque @I & ?
What is deque ?

(vii) Sarg # 7 feA 1 &1 aomE (G 5 ) 39 R § —

34, 34, 27, 28, 27, 34, 34 3T AUAM T B |
Consider the temperature (in Celsius) of 7 days of a week as -
34,34, 27, 28, 27, 34, 34. Find the average temperature .
(viii) SQL B9 &I SUIRT %R Output ford —
SELECT POW(2,3)
Write the output produced by following SQL Statements :
SELECT POW(2,3)

gus (9)

SECTION-B

Q-4. Catching 3iR exception &I R\ & ?

Define catching and exception .

Q-5. 3ifoH WvS BT STIT RT 8 7

What is the use of finally clause ?
Q-6. text file 31X binary file # 3R BT |

Differentiate between text file and binary file .

Q-7. F=ATIRET HUAl & g <R darsy —

(a)and(b)

(@) P = open(“practice.txt”, “r”) as P:
P. read(10)

(b) with open(“practice.txt”, “r”’) as P:
x = P. read()

What is the difference between the following set of statement :-

(a)and(b)
(a) P = open (“practice.txt”, “r”) as P:
P. read (10)

1%

1%

1%

1%



(b) with open (“practice.txt”, “r”) as P:
x =P.read ()
Q-8. (A+B) x C/D &I URefthad AIce H dadl |

Convert (A+B) x C/D into postfix notation .
Q-9. ((2+3)*(4/2)) + 2 59 MMAfIT BT SUANT BRI | Wb Sel AT BT ST

IRD DISH & A B oIy TROT T =ROT Ufshar g |
((2+3)*(4/2) ) + 2 use this expression. Show step by step process for matching

parentheses using stack data structure .

Q-10. Queue 3R Stack @& 3T<R BT qoiF HINTY |

Describe the differences between queues and stacks .

Q-11. Queue TR HIF—PI W operations &I 8, AT IAT8T |

Write the name of operations on queue .
Q-12. HaRdT 3R RFATRT STl # <R dadTsy |

Differentiate between structured and unstructured data .

Q-13. Primary Key 3R Forign Key # 31<R qarsq |
Differentiate between Primary Key and Forign Key.

Q-14. Tree topology, Bus topology ¥ fd U&R =1 € ?
How is tree topology different from bus topology ?

Q-15. dfge ¢ dfge Uietaid (PPP) WR wfera fewft forRay |

Write short note on Point to Point Protocol .

s ()

SECTION-C

Q-16. UrsyE # fUBfelT & gRMITNT & | UISYH Object & HHIGA AR HHHA
D ARAT B |

1Y%

1%

1Y%

1%

1%

1%

1%

1%

Define pickling in python. Explain serialization and deserialization of python object .

Q-17. f=faRad &l & &7 & oy v’ & 9™ faRay —
(i) 99 HEH &1 ¥ UaRid & & fofy o e a1 gy o |
(i) TBRT W &1 4 3SH & I3 AR § yaRia w2 |

(iii) T3 A string & BT faRIY 3feR BT position BT FAT USRI W= =] |



Write the name of functions to perform the following operations :-
(i) To display the name of month in which you were born.

(ii) To display your name in capital letters .
(iii) To display the specified number of characters from a particular position

of the given string .
Q-18. Hfere fewoft forRay — 3

(a7) Switch

() Repeater

(9) Router

Write the short note on the following :-

(@) Switch

(b) Repeater

(c) Router

gus (])
SECTION-D
Q-19. ¥ R U IR & 918 o &l Refd fam@md gy Fr=failRad uefhad 4

AfAeafdd &1 Hedidmd o |

A=3,B=5C=1D=4

(a) AB + C*

(b) AB* C/D

Evaluate following post fix expressions while showing status of stack after each
operation given :

A=3,B=5C=1,D=4

(@) AB + C*

(b) AB* C/D
SIdT

OR
FrfaRaa $ftha AICe &1 IS =R § h IR RgT It fawrd gu uRefthad
e ° uRafdd Y |
(@) A+B—C*D

(b)A*((C+D))/E
Convert the following infix notations to postfix notations showing stack and string

contents at each step :-

@A+B-C*D
(b)A*((C+D))/E



Q-20.

- EMPLOYEE TABLE :-

Emp No. Emp name Salary Bonus Dept ID
101 Aaliya 10000 234 D02
102 Kritika 60000 123 Do1
103 Arvind 45000 566 DOo1
104 Shabbir 19000 565 D04
105 Gurpreet 34000 875 D03
106 Joseph 48000 695 D02
107 Sanya 15000 Do1
108 Vergese 29000 D05
109 Machaobi 42000 D04
110 Tanya 50000 467 D05

SWRIG dlferel TR =R wrd gy Fr=falRad Query &1 wel Rica forad gu
Out-Put 41 for —

Consider the above table given the Out-Put following query and also write the proper

(2) T RA HHATRAT B HHART TR |
(b) Tt FHAIRAT & 919 & AT ISP b 3 |

-:EMPLOYEE TABLE :-

Emp No. Emp name Salary Bonus Dept ID
101 Aaliya 10000 234 D02
102 Kritika 60000 123 Do1
103 Arvind 45000 566 Do1
104 Shabbir 19000 565 D04
105 Gurpreet 34000 875 D03
106 Joseph 48000 695 D02
107 Sanya 15000 D01
108 Vergese 29000 D05
109 Machaobi 42000 D04
110 Tanya 50000 467 D05

SQL Syntax —

(a) Employee Numbers of all employees.

(b) Name of all employees along with their annual income.

AT

OR

20,000 and 50,000. (both values inclusive)

() 37 HHATRAT BT F7gUl fJaxor ST DO4 faviT # 7 iR 9@ 3 5000 /— 4 S T |
(b) 371 HFETRAT B AR ID @R AT RFaT a9 20,000 /— 3R 50,000/ — & 7 B |
(20,000, 50,000 &I AfFAfeTT 2 1)

(a) Display all details of those employees of DO4 department who earn more than 5000.

(b) Name and department ID of all those employees who are earning salary between
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.

1 | 1- Querying and SQL Functions 2(2) - - - - 22) | 2(2) | 30 3(1) - - |20 | 3@ 3(1) - - - - - - 20(14)

2 | 2-Data Handling using PANDAS-I | 2@2) | 2() | 115(1) | - - — - | 30 - - 111) | — _ — — - _ _ _ - o%4(8)

3 | 3—Data Handling using PANDAS-II | 2(2) | 1(1) 1%4(1) - - 101) | 20) | - — - - - 3(2) - - - - — — | 4(1) 14%5(10)

4 | 5-Internet and Web 101) | 101) - - - - - (30 - - - | - - 3(1) - - | - — | = 40 12(6)
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e & forw wm= e —
GENERAL INSTRUCTION TO THE EXAMINEES:
1. el gduerd U9 Y U W AHih Sifvaria: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge e erfvard 7|

All the questions are compulasory.
3. U U BT IR &l g IR JRAdT 7 &1 ford |
Write the answer to each question in the given answer book only.
4. RF Ul H TaIR® @re 8 I F91 & IR U A1 B ford |
For questions having more than one part the answers to those parts are to be written

together in continuity.

5. U9 U & 3l WR ISl HURRY # fdl R @ Ffe/ R /RN 8 W fR=d wmr &
U3 DI Tl 7 |

If there is any error/difference/contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated valid.



(@vs @)
Ue 1 Sgfaadl U= Ul & IR &1 el e 999 e S gRder ¥ fafag

Write the correct answer from multiple choice question 1 ( 1 to ix) and write in given answer book.

(i) TUdh empty series object I B forg ST B Fhd © 2 1
(81) Pd.series(empty) (@) Pd.series(np.NaN)
(W) Pd.series() (g) all of these

To create an empty series object you can use :

(a) Pd.series(empty) (b) Pd.series(np.NaN)

(c) Pd.series() (d) all of these

(ii) U series object$ STATHT BT AT UTd B & %I'Q .................... attribute TSR BT 21 1
(a1) index (@) Size

(@) ilensize (8) ndim

To get the number of dimensions a series object ...........ccccuveeenes attribute is displayed.

(a) index (b) Size

(c) ilensize (d) ndim

(ii)) Data Frame ... HARM ® ddad S FHTd WX JRIG BT ITINT AT S FhaT 7 |
(a1) iterate( ) (9) iterrows

(@) itercals() (g) itesiterms

iterate over vertical subject of a data frame ................ function may be used.

(a) iterate() (b) iterrows

(c) itercals () (d) itesiterms

(V) 9T H NaN A Bl BIed & o7 3T oo femar fAfds &1 Jaa 21 1
(1) NaN (@) NA

(W) skipna (2) all of these

To skip NaN value in a calculation you can specify.................. attribute.

(a) NaN (b) NA

(c) skipna (d) all of these

(v) f=ferRaa # & @9 Ud Text Function T8l & ? 1
(31) TRIM( ) (c) TRUNCATE( )

(&) MID( ) (%) LEFT()



Which of the following not a text function ?

(a) TRIM() (b) TRUNCATE( )
(c) MID() (d) LEFT()

(V1) %1 Query ®T output BT ?

SELECT LENGTH("INDIA ")

(e1) 6 (|9) 5

(|) 7 (<) 8

What will be printed by the given query ?

SELECT LENGTH("INDIA ")

(A) 6 (B)5

(c)7 (d) 8

(vii) fe®iee U | ORDER BY clause GRUIH &I ... %9 W gAldg dal g | ?

(1) Ascending

(&) Any

By default ORDER BY clause lists the result's in

(a) Ascending

(C) Any

(9) Descending

(g) Same

(b) Descending

(D) Same

(viii)  dfaaal @T T A B feTg sQL query H =T SQL function BT TART & |

(31) COUNT()

() Count (*)

(d) Number()

(<) SuM()

Which SQL function in used to count the number of rows in a SQL query ?

(A) COUNT()

(C) Count (*)

(ix) web site GUT g —

(31) HTML document

(@) audio and video files

A web-site in a collection of .
(A) HTML document

(c) audio and video files

(B) Number( )

(D) SUM()

(9) Graphic files

(g) all the above

(B) Graphic files

(d) all the above



g 2 Raq i« &1 gt (Fill in the blanks) 1x4 =4

() BRI AHTH SIETd AF el & 1
The e, function return the maximum repeating value.
(ii) Substr() & TATAT fHdT =T RET &1 FIRST U HRA B I, o BIIE BT

fl SuanT B e 2 1
To get a substing of a string other than substr( ), function ............ is also usecl.
(iii) PFITT o # fAffdsaL v A= e hicH § 999 Bl J19 UT $Ral © | 1
The SQL built in function ................. obtains the smallest value in a numeric column .
(iv) web site TR web page BT oo EﬁW@ﬁ@WﬁWﬂTﬁ@@gﬁ’%l 1

Web page on a site are linked together through a system of .............
7eq 3 1 Ul @& SR U@ ufaa § R 1x8 =8

Give the answer of the following question in one line 3 (i to viii)

(i) Panda Library T IT Hgcd g7 1
What is the significance of Panda Library.

(i) Data frame ¥ row delete BT HT HAF fIRIU | 1
Write statement (s) to delete a row from a Data frame.

(iii) Data frame H column WWW@WWWWWWW ? 1
Which function would you use to RENAME the column name in a Data frame .

(iv) T Sum () 3R add () BT FHE & ? 1

Are sum () and add () functions the same ?
(v) Quartile T & ? 1
What is Quartile ?

(vi) missing data IT © ? 1
What is missing data ?

(vii)ﬁ":f code DT output dIT BT ? 1
my SQL > SELECT CONCAT( CONCAT(' Inform’, 'atics' ), ' Practices');

What will be the output of following code.

my SQL > SELECT CONCAT( CONCAT(' Inform','atics' ), ' Practices');

(viii) GROUP BY clause T &IT SUIANT & ? 1
What is the use of GROUP BY clause ?

(@vs 9)
SRS U (SR s AT N 50 ¥eq) 1.5x12 =18

4.ﬁlﬁﬁ?ﬁ@codeﬁ§%§lﬁfﬁ? 15
S2 = pd.series ([ 101,102,102,104])



print (S2.index)

S2.index=[0,1,2,3,4,5]

S2 [5] =220

print (S2)

Find the error in following code fragment

S2 = pd.series ([ 101,102,102,104])

print (S2.index)

S2 .index =[0,1,2,3,4,5]

S2 [5] =220

print (S2)

5. =T P @1 ®E I8 B ?

df.drop ([ "Total", " Order"] axis = 1)

What is following statement deliver

df.drop ([ "Total", " Order"] axis =1)

6. DataFreme, Series & ©O Fdfd & ?

How are DataFrame related to Series ?

7. Pivot() 3R Pivot_table() & HeJ <R HHSISY |
Explain the difference between pivot( ) and pivot _ table( ) function ?

8. Data aggregation &I Ie9T ford |

Write the purpose in data aggregation.

9. merge() 3R join() BT DI IRAT B |

Explain merge () and join( ) function
10. Today, the date is < current date> Uei¥d & & fousqL weF foRau |
Write SQL statement to display today, the date is < current date >
11. 99 code @1 output T BT ?
my SQL > SELECT UCASE( Computer studies)
What will be the output of following code?
my SQL > SELECT UCASE(' Computer studies')

12. Sum, Average, Highest salary of the employes, yefdfd &1 & forw query fRau |

Write query to display the Sum, Average, highest salary of the employes.
13. 999 R a1l HHAIRAT BT GRT Ueffd o+ & foTv U query ford |
Write a query to display the number of employes with same Job.

14. SHA A BT IRTAT R GeT H fewolt ford |

Discuss the structure of an email message in brief.

15. Web server T gﬁ?ﬂ %\r ?

What is a web server ?

1.5

1.5

1.5

1.5

1.5

1.5

1.5

1.5

1.5

1.5



(@vs 9)
e S U/ fereTd e (STR 368 AT 9T 100 91<8)

16. VoIP UTeTdhidl & o /BT foIfaw | 3
List some advantage/disadvantages of ( Voice over in Internet protocal )
17. Table ( Product) 3
Pcode Pname Uprice Manufacturer
PO1 Washing powder 120 Surf
P02 Tooth paste 54 Colgate
P03 Soup 25 Lux
P04 Tooth paste 65 Pepsodent
PO5 Soup 38 Dove
P06 Shampoo 245 Dove
1 & forusal Query forlRay |

i. Product ¥ @1 TIfTRT H B A9 &I AT DI SilS |
ii. Dove gRT AT T ScuTg & fow g # 12% 1 gl |
iii. 9P AT §IRT IUTGT BT el HAT TSR o |

Table ( Product)

Pcode Pname Uprice Manufacturer
PO1 Washing powder 120 Surf
P02 Tooth paste 54 Colgate
P03 Soup 25 Lux
P04 Tooth paste 65 Pepsodent
PO5 Soup 38 Dove
P06 Shampoo 245 Dove

Write SQL queries for following

i. Add a new column discount to the table product.

ii. Increase the price by 12 per cent for all the products manufactures by Dove.
iii. Display the total number of products manufactured by each manufactures.

18. Table ( Product ) 3
No Name Stiperd stream AvgMark Grade Class
1 Arvind 400 medical 78.5 B 12B
2 Gurpreet 450 commerce 89.2 A 11C
3 Deepa 300 commerce 68.6 C 12C
4 Ravindra 250 Humanities 64.4 C 11A
5 Rubira 450 non medical 88.5 A 12A
6 Vikram 500 non medical 92.0 A 12A
7 Manoj 380 commerce 67.5 C 12C

o forg sQL B &1 output foTRay |

i. SELECT TRUNCATE(Avgmark) FROM student, WHERE Avgmark <75,
ii. SELECT ROUND(Avgmark) FROM student WHERE grade = 'B'
iii. SELECT CONCAT(Name, Stream) FROM student, WHERE class = '12A',

Table ( Product )



No Name Stiperd stream AvgMark Grade Class
1 Arvind 400 medical 78.5 B 12B
2 Gurpreet 450 commerce 89.2 A 11C
3 Deepa 300 commerce 68.6 C 12C
4 Ravindra 250 Humanities 64.4 C 11A
5 Rubira 450 non medical 88.5 A 12A
6 Vikram 500 non medical 92.0 A 12A
7 Manoj 380 commerce 67.5 C 12C

Give Itl output of following SQL Statement.

i. SELECT TRUNCATE(Avgmark) FROM student, WHERE Avgmark <75,

ii. SELECT ROUND(Avgmark) FROM student WHERE grade = 'B'

iii. SELECT CONCAT(Name, Stream) FROM student, WHERE class = '12A",

(@rs 7)
<Y SN U/ feRreTd e (SR 368 AT I 250 9SS )
19. Data Analysis ¥ 3TFHIT U HEE'CIQ'UT SR FiT § 7 4

Why estimation is an important concept in Data Analysis ?

OR

I T SeT e B IR R AEfaRad us & fATT Python w foRauy |

Name Degree Score

0 Aparna MBA 90.0
1 pankag BCA Nan
2 Ram M. Tech 80.0
3 Ramesh MBA 98.0
4 Naveen MCA 97.0
5 Krrish BCA 78.0
6 Bhawna MBA 89.0

(31) TP Stream # ST IR frHad 3fw fiic w1 & forg |

() Index to Name WR T &R & fo17 |

() ud BE & A9 AR IR i 3ie wefdia o= & v |
(&) MBA BT @ AT e @ forg |

Write the Python statement for the following question on the basis of given data set :

Name Degree Score
0 Aparna MBA 90.0
1 pankag BCA Nan

2 Ram M. Tech 80.0




5

6

Ramesh

Naveen

Krrish

Bhawna

MBA

MCA

BCA

MBA

98.0

97.0

78.0

89.0

(a) To print the degree and maximum marks in each stream.

(b) To set the index to Name.

(c) To display the Name and Degree wise Average marks of each student.

(d) To count the number by student in MBA.

20. Network Topology MY RIT FHSA & 7 I AR Topology HIT g7

What do you mean by Network Topology? What are the most popular topologies?

OR

Hub, Switch and Router ¥ 3R foTRaU |

What is the difference between Hub, Switch and Router?
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wRieeft & fofw Jmg e —

GENERAL INSTRUCTION TO THE EXAMINEES:
1. Temeft Fduerm U9 Y 9o W AHih Sifvaria: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge R Sifvard 7|

All the questions are compulasory.
3. U U BT IR &l Ty IR GRAHT 4§ &1 ford |
Write the answer to each question in the given answer book only.
4. F Ul H dIR% @ue 8 I I & IR U A1 & ford |
For questions having more than one part the answers to those parts are to be

written together in continuity.
5. U9 U3 & f2l WR ISl ®URRY H &l UeR @ Ffe/ 3R /R 8 R 2=
HTST & U2 HI T8l 74 |

If there is any error/difference/contradiction in Hindi & English version of the
guestion paper, the question of the Hindi version should be treated valid.

gvs — (31)
SCETION-(A)
1. ggfddell U —
Multiple Choice Question —
() EIfe sefeme & favg 9 A8t & — (1)
(31) fefa =R (d) ISR &R
(%) Farepifa () =T T T e

Which of the following is not a subject matter of Macro-Economics-
(A) Output Level (B) Employment Level
(C) Inflation (D) Demand & supply Equilibrium



(i) /1 H ¥ YOI a%] BT ISRV T8l o— (1)

(iii)

(iv)

(v)

(vi)

(vii)

(87) M CIEISI

(%) TR, PR () MM

Which of the following is not an example of capital good-

(A) Machines (B) Equipment

(C) Domestic Computers (D) Warehouse

NNP yp & T 39T & — (1)

(31) IT9IR DA WR Hdbel IS IS
(@) |EH AN IR el TS I
(d) IoIR DHIAEd R g IS ST
(@) e AN R Yg TG Il
Meaning of NNPy; is -

(A) Gross National product of market price
(B) Gross National product of Factor cost
(C) Net National product of market price
(D) Net National product at factor cost

T 96 DI WY fhE a9 g8 — (1)
(a1) 1935 (@) 1942

(|) 1950 () 1955

In Which year Central Bank was established -

(A) 1935 (B) 1942

(C) 1950 (D) 1955

=1 3 9 a1 gfd &1 N9 wU GIdsR & oy 9ed avel 9 I 8— (1)
(3) M, @ ™,

(&) M; () M,

Which of the following form of money supply is the most liquid and easy to deal with -
(A) My (B) M,

(C) M3 (D) M,

e & 9 BI9T dole BT Uh IR o— (1)
(31) wgford st (@) 3rfeRIy goie

(4) =TT Juie (3) SHad |+

Which of the following is type of Budget -

(A) Balanced Budget (B) Surplus Budget

(C) Deficit Budget (D) Suitable All

T B HHT Bl BRI & — (1)
(1) AT sfragaahar (@) A dameE

() STl @ ddfedd YART (3) Sad |+l
Reason for the problem of choice is -

(A) Unlimited Wants (B) Limited Resources
(C) Alternative uses of Resources (D) Suitable All



(viii) TSR 9 / SR b BT @TeT Bldl 8—

(31) TR (@) afasa
() Sarex (8) oTHaq
The Slope of Indifference curve is -

(A) Concave (B) Horizontal
(C) Convex (D) Vertical

(ix) e avg # @9d g 77 & /=9 Jag 9 Sr e

(&) e @)
(A) FoTHD (@) SWa ¥ ¥ Py TRl
Relation between price & demand in Giffin Goods is -
(A) Positive (B) Zero
(C) Negative (D) None of the above
(x) AT STE BT G —
TP ATP
(31) " @) 20
(|@) APXQ (3) PxQ
Formula to find the Marginal Product is -
N (B) 5
( Q AQ
(C) APXQ (D)PXQ

(xi) fId Rer AFTd asb &) Ml Bl B—

(31) afcrsig (@) IMIATPHR TR
(H) SR (@) I 3MMBR

The Shape of Average fixed cost curve is -

(A) Horizontal (B) Rectangular Hyperbola
(C) Vertical (D) ‘U’ Shaped

(xii) IIBIA H ol AN T Fool IRAATAA ARTT & Heg 3R Bl B—

(a1) TFC (d) AFC
(|) mc (g) AC
In short Run the difference between Total cost and Total variable cost is -
(A) TFC (B) AFC
(C) MC (D) AC

2. Raa s+ —

Fill in the blanks —
(] DI YD ANAURA BT TS AT ST = |

.................................... is known as founding father of Modern Economics.

(1) R AR ¥ B SINT BRaT B |

veererennnn. iSSUES the currency in India.



(iii) TRPBR BT SWET Ae I8 AT AR H_= & foIU 8T 31ar s9 &H
PRA B AT, e BHEAT B |

The intervention of the Govt. whether to expand demand or reduce.

It CONSHITULES the .eoeoeeiieeee e

(iv) DETRd ATSTEG SfIIaReIT BT FHTTH IETER...cooon 2

The closed example of a centrally planned economy is .....cccceveeeieeneireeeenen.

(v) S TCIAT TP oo afe / SUARTAr yare &Rd ¢ |

Higher Indifferences curve gives ........cccoevveereevenen. level of satisfaction / utility.

(vi) STEfpTel & Sure & A AR o B B |

In long run, all factor of production are .......ccceceeeeienincceccecierenene

3. fo=1 ueAl & SR 10—20 Tt H diforu—

Answer the following in 10-20 words —
(i) ‘3 Toie’ | wr areud © ?

What do you mean by ‘Economic Agents’ ?
(i) 3ffom avq fs Fed & ?

What are ‘Final Goods’ ?
(jii) oIS | AT FIT FASI & ?

What do you understand by ‘Depreciation’ ?

(iv) e GETPIY I BT YT Iqad &1 & ?

What is the main purpose of holding cash reserve ?
(v) o fafa | a1 ome 7 2

What do you mean by Barter System ?
(vi) GOTRTT UTTTal T $Ig Udh S&TeR0T STy ?

Give any one example of Capital Receipts .
(vii) DINE DT URIg Yo o1 = foiRay ?

Name the famous book of Keynes .

(viii) DT AroTTag AfaRRT & i T Aewdqul o fad

g forg o € ?

Under Central planned Economy, by whom all important decisions are taken by ?

(ix) TP K] & Pls &l I&TERIT QIfIT |
Give any two examples of Complimentary Goods .

(x) ST BT B gR¥TeT T |

Define Production Function .



(xi) ‘TIAEE YA @ UfIhe W MY 9T HHS & P (1)

What do you understand by ‘Decreasing Returns to scale’ .
(xii) Iof IRt IR # ®F @ G FUIfd A9 B BT G qarsd | (1)

Give formula to find out Total Revenue in perfect competitive market .

gvg — (9)
SCETION-(B)

(4) FHA BN IS (GDP) & ATRYT T HedvT H FH=—I PI FHSNSY ? 2)

Explain the relationship between Gross Domestic Product (GDP) distribution and welfare .

(5) afd IR BFT W APHA TXe] ST (GDPyp) 310 . & TAT I 2)
50 . © Al dI9IR DHFd R YE &Xe] UG I TUFT HIFT |

If Gross Domestic Product at market price (GDPy;) is 310 Rs. And Depreciation is

50 Rs. Calculate Net Domestic Product (NDPy;) .

(6) avqg fafma ugfay @1 a1 SfeARAl & & ? faRay | 2)
What are the two difficulties of Barter System .
(7) IoRE T 3R YOI I H SR qarsy ? 2)

Differentiate between Revenue Receipts and Capital Receipts .

(8) AT TRBR gRT &I H gig & SQ a1 I9 Rl 7 vaIsg a4 2)
gRec 8rm ?
If the taxes are increased by the govt. what will be the change in disposable

Income in that case.

(9) TSI+ axall a ISl a¥gell ¥ T iR qarsy ? (1+1)
Give two difference between Public goods and Private goods.

(10) IfE A IYART YgRT (MPC) 0.6 T AT TRBINI T T[0T BT AT (2)
ST BT |

Calculate the value of Govt. expenditure multiplier if Marginal Propensity to
Consume (MPC) is 0.6 .

(11) @fe arefemes & aRwm forRay | (2)

Define Micro Economics .

(12) o IUARAT Ud A ITART Haell =1 arforest &1 qof HIfTg—(Ve+1a+1%+% =2)

H ISUAET (TU) 20 - 53 63 - 76

AT SYAREAr (MU) 20 18 15 — 8 —



Complete the following table with respect to Total utility and Marginal utility .

(Tu) 20 — 53 63 — 76
(MU) 20 18 15 — 8 —

(13) Ul G SrEdTel H T 3 gy ? (1+1=2)
Differentiate between Short run and Long run.

(14) ol gfeRema=1 9% & oIy MR ab &1 AT iy | 2)
Draw the indifference curve for perfectly substituted good.

(15) got ufcruel aToR &1 <7 faRmar = € ? fofRag | (2)
What are two characteristic of Perfect Competitive market .

(16) Tt @1 ST A (e5) BT G oAy | 2)

Write the formula for elasticity of supply.

g — (9)
SCETION-(C)
(17) M & TIA UATE DI ATIROM DT FHSY | (1%6+1%=3)
Explain circular flow of Income .
AT
(OR)

TSI M 0T a1 fhee) <1 faferl &1 v Sy |

Explain any two methods of National Income calculation.

(18) a7 R ERT WRT Jord &I UlhAT Bl FHS | (3)
Explain credit creation by Banking System.
3T
(OR)

HCCT IqQeT & oIy HAT BT ART B SRV Bl T DI |

Explain the concept of Demand for money for speculative motive.

(19) AT IATGH FHIGAT dgh DI ATfABT I FeErdl | &F &1 R S | (3)

Represent the diagram of Production Possibility Frontier (PPF) with the help of table.

3rerar
(OR)
TS AFAR ToTR JdegeaRel] H durd TRl (fbg! &) o1 Faer b yaR

fopar ST 2 ?

According to you how does central problems are solved in a Market Economy ? (Any two)




(20) BT WU BT TRV DI ATfeTdT T EITH & ARIH H FHSE | (1Va+1%2=3)

Explain the concept of Total Revenue with the help of Table and diagram.

3rerat
(OR)
quf Gl 96T # STeUdTad | Tl BH Bl o AMTHTHDBRYT DI TARIT BT IS R

AR |

Explain with the help of diagram the problem of profit maximisation of a firm in the short runin a

perfectly competitive market.

gug — ()
SCETION-(D)

(21) 9T & U@ QT BT ST qUE B | (2+2=4)
Describe the main two functions of Money.

3reraT
(OR)
IR Red d% gR1 g1 gfd oo & <1 Sl &1 auie aifoig |

Describe two measures of Control of money supply by RBI.

(22) 3mMa H URATGH & HRUT goic IC H BIF dTel GRIAH BT @I (2+2=4)

ERI WL DI |

Graphically explain the change in budget set due to changed in income.

3rerdT
(OR)
JEIHT Ih Bl <T fARIadreil BT N&Ta &l Fedl I T I |

Explain the two characteristics of the indifference curve with the help of diagram.

(23) TTHA I STE IH & Y@ Aied AR Bty | (2+2=4)

Explain law of decreasing marginal product with diagram.

S

(OR)
e hTole ATHId oI dsh d 3G oIRTd dshl & AR DT NGIT gRT W BT |

Explain relationship between long run marginal cost curve and average cost curve with the help of

diagram.



Y95 & Aror=T

Del — 12
fawr —arefemre
A — 2 T 45 fAAC qufids — 80
1. I TG PR —
%4 SECED) SCRIN gforera
1. | =™ 30 37.5%
2. | 3radm 26 32.5%
3. | aifrefad 08 10%
4. | wifermar 16 20%
AT 80 100%
2, Ul & UHRAR IAHAR —
9. e RE] PISNE] el Bl LD
1. ?Rﬂﬁ'% + ﬁaa' I 18 1 22.50 36 23
2. | HfTTERIRTAS 12 1 15 24 23
3. | THTRIAD 13 2 32.50 26 44
4. | IR T 4 3 15 08 37
5. | FaeTHS 3 4 15 06 38
AT —| 50 100 100 165
[ddhed IIo™T : MIRD
3. fawg avg &1 SPIR —
Ecl fav a%g JPAR | wfaerd
1| e srieme (1) ulRed (11) IS I HT oRdTdhT 14 175
2 | ga1 ud dfen 14 17.5
3 | ORI quic 12 15
4 | it 3RS Ud uRey 8 10
5 SUHTIIT GdgIX DI Rﬁc&l*ﬂ 12 15
6 | ScaIad dHl dNTd 12 15
7 | goi ufceuel &1 RIfd 9 wH &1 g 8 10
I —| 80 100%




el — 12 fawT — 3refems — 80
. I 33T /U IS ElE] RECICH SFTANT / et Prerer / Aot AT
q
v gk ¢ |p Ple: P €
! ?T)T&‘\’F%H m(%% 33) 13@) | — | = | — [10)] = j20(3()| = | = | = | = | = | = | = | = |20 - — 14(10)
2 | a1 ud i 3@) (1) |20 = | = | = ()| =43 j4)| = | = | = | = | | = -|-1]- — 14(8)
3 | RPN qole - 1) - =] =120 — 4@ | = | = | — | — |4 — | = [1)]| = | - — 12(8)
4 | Afte Jiemes v JRkeag 1M (120 = | =1 - - |- -]=-=-]=-]s0| = -1-1=-|-1 - 8(5)
5 | IYAIGAT FIER & g 3@) | — [ = [ = = =] =] == =-1=1=1=1=1=1=14@] = | 40) | 1200)
6 | STGT dAT <IlTd 4@) (1) = | = | = | = | = |20 = 20| = (1) = | = | = = | = 1| =1 —=1]+20) | 1208
7 gt BT R A wH T Rigra | — (1) (4@ | - | - | - | = | = | = | = | = =] =1 =|=1|-=1=1=130] = | 8@
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ECISIICIRC I | e - R H U@ IfaR® [dpca & Alc— HISd H 981 3 AT 3id] o a1 HIak I & eSa® & |

fAder - ue U3 d o1 Ue 23 B, Sl UHRR 9§ HA 50 3 |
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BT — Xl
vy — wofa fasme

A — 2 T 45 AT qufids — 80
1, TJEaeY B HPIR —
% . SEC| SCRIN gfererd
1. | 9H 32 40.00%
2. | 3fadr™ 24 30.00%
3. | aifrefad 20 25.00%
4. | Hifermpar 04 05.00%
ANT — 80 100.00%
2 el & YBRAR JHIR —
. el BT UBR | ULl Dl | 3P U | FHl b gfaerd | |HIad
. T G| gfererd el & Y
1. | TS 12+6=18 01 22.50% 36.00% 25 Min
2. e,q‘f?]amzﬁ 12 01 15.00% 24.00% 20 Min
3. | TRIHD 13 02 32.50% 26.00% 45 Min
4. | SEI=TNT gy 04 03 15.00% 08.00% 40 Min
5 | f9aTHR 03 04 15.00% 06.00% 35 Min
AT 50 _ 100.00% 100.00% | 165 Min
[Adhed IIoHT : MIRD
3. fawa a8 a1 SIHIR —
Esh [ERRIER! PR | faerd
1 | g &1 SR 8 10.00%
2 | 1 g &I 8 10.00%
3 | WHBIel gferor giRrn 7 08.75%
4 | RIS T3 6 07.50%
5 | GHPIClA fdeq H gRef 5 06.25%
6 | JATGRT 3IR UThiad AR 6 07.50%
7 | g AT @ gAfadr 7 08.75%
8 |UP &1 & U Pl QR 6 07.50%
9 | fFrafsra e & oI 7 08.75%
10 | SIUF YUTTel : AT 3R GeRITO] 6 07.50%
11 | 59 3Tl Bl 3 7 08.75%
12 | RO IS : AU ggelid 7 08.75%
Total :- 80 100.00%




HET — 12 fawa — o fa=m qulfs — 80
b 92 SPIS /ST SHIS Eilil ST ST / At PreTed / NfeTpar IR
<.
1 | ¥NagE & SR 1(1) 1) [ 20 | - | - 10) | 10) | — - - - e -1 I e e I Rl I B - 8(6)
2 | &1 gdrgdT &7 3 1(1) 1) [ 20 | - | - 10) [ 10) | — - - = e RO e e e e e - 8(6)
3 | AAdTed gferoT giemn 1(1) 0m [ - |20 - - - | = | ®E) = = - 20| - | -] - |- -|- = 7(4)
4 | R A8 1) | - - — [ 101) | 101) - | - - | *) - - - - = == = = | *)| 86
5 | SHdTel fdeq H ge 1(1) - - - | - - - 20| - - - -l - | = = |- -]- - 5(3)
6 | TATERTT 3R UThiad AT 1(1) - - 20| - - = 1 200) | *1() - - - - = i i B = 6(3)
7 | g IO @ AT 10) [ 10) | - — [ 101) | 101) - | - - *1(-) - - - - = == = | x| 7@
8 |UP 1 @ U Pl AR 1(1) - - - | - - - 20| - - 10) 20 | — | - - |- |- - 6(4)
9 | frafora faer &1 o 1(1) (ORI - | - - - 20| - - e A 20 A T R A e I B - 7(5)
10 | HIUE YOTTell : Al 3iR - - - 20| - - | - - *2(-) - - )| - | =] = |- - |- - 6(2)

E:i-\rgﬂ'qq'[ _
11 | 59 =TIl BT I8 1(1) 1(1) 1(1) 1(1) *2(-) - 10) ] - - - o R e I - 7(5)
12 | IR ST AU 9Gerd 1(1) 1(1) 1(1) 1(1) 10) ] - e T e e I e - 7(5)

AR — | 90)/ | 70) | 4@) | 6() | 4B) | 2Q)/ | 4() [ 8() | 40) | 40) [1()/ | 1) [14@) [ 200 | - | - [ | - | = | 46) | 8olo)
2(2) 2(2) 2(2)
32 (27) 24 (12) 20 (11) 4 (-)

fameul & AT — UH. 1925 G | YHI~a® AdR® f[Abey 8 e :— PISd H I18x P T 3l I g2 Hak y3+ & aOdd & |
e :— 9o 93 # T Ued 23 €, Sl YHRWR ¥ HA 50 T |




AafAe e 9IS oI, 35T

Aied U U 9= ARA@A® URIET 2022
- wofa fasm
HET—12
|HY — 245 ©C quries — 80

gus — (31)

SCETION-(A)
TS YT —

Multiple Choice Question -

ueT 1 — ffaRed uehl § SR &1 98 fAecs 999 = SRyRaasT ¥ fod —

(i) SR AcdlfcHd AT TS (ATS) DI QAU B T8 2 (1)
(@1) 1962 @) 1967
(|) 1949 (g) 1953
The North Atlantic Treaty Organisation (NATO) was established ?
(A) 1962 (B) 1967
(C) 1949 (D) 1953

(i) e IRUr fog a9 =R g off ? (1)
(a1) 1980 (@) 1990
(|) 1985 () 1995
In which year was ‘Shock Therapy’ adopted ?
(A) 1980 (B) 1990
(C) 1985 (D) 1995

(i) FTFer gHEfIT g — (1)
(31) Ry @) dm®H
() e (@) s
‘SAFTA’ is related -
(A) ASEAN (B) SAARC
(C) UNESCO (D) OPEC

(iv) WRd 7 gl YRATY] qeqor fohar — (1)

(31) 1974 (d) 1975
(|) 1978 () 1980
India conducted the first Nuclear test-
(A) 1974 (B) 1975
(C) 1978 (D) 1980

(v) dRa® \HeT I1 AFadr & ARh fva | @ afafea T8 g ? (1)

(81) argAvS CISSERIN
(¥) =) s (€) aTedr sraier



(vi)

(vii)

(viii)

(ix)

(x)

(xi)

What is not included in the Global Wealth or Common Heritage of Humanity ?
(A) Atmosphere (B) Roadways
(C) The Ocean Floor (D) Outer Space

WA ARG H U IATH G DB gINT o ?

(a1) 1952 (@) 1962
(|) 1960 () 1972
When was the first general election held in independent India ?
(A) 1952 (B) 1962
(C) 1960 (D) 1972

e SITIRT &7 wITUT he gg off ?

(31) 2010 (@) 2012
(|) 2015 () 2017
When was NITI Aayog established ?

(A) 2010 (B) 2012
(C) 2015 (D) 2017

fRrue! TRTe &I YwaM fbd 5T F gg 7

(37) sIREvs (@) SRS

(&) STRiTe (=) worgR

From which state lead the Chipko movement originate ?
(A) Jharkhand (B) Uttarakhand

(C) Uttaranchal (D) Manipur

T oI gl § W T oI o BT &

(@1) SfeTT A9 BT (§) WRAR SIHdr grel

() 9go= |AETGEIG! TSl () ST 3ATeHT uTel

Which of the following political parties is the new political party ?
(A) Indian National Congress  (B) Bhartiya Janta Party

(C) Bahujan Samajwadi Party (D) Aam Aadmi Party

G IS¢ FE B YUH HENRIG i o ?

(31) grI87g it (@) ST eiRT